3/4” MINIMUM
7 EDGE DISTANCE
IDSPAN ﬁs) .
3"FROM /® 1 .1/2" MIN.
6" TYP. 1 [ CORNERS EMBEDMENT
1 TYR B 5" FROM 1
} CORNERS
-3 =) P =)
T T [
14" O.C.
TYP.
| FRAME_SECTION (TYP)
T VERTICAL SECTION
-p - Y
e
(0]
P o
']
T T /—1/4' MAX. SHIM SPACE
?”-E: 1/ 1 1/2° MIN.
1 EMBEDMENT
P o
I A E— ——
- é 3/4" MINIMUM
TYPICAL ELEVATION WITH FASTENER SPACING EDGE DISTANCE

1/4” MAX. SHIM SPACE

THROUGH FRAME
INSTALLATION

_3/4" MINIMUM .
EDGE DISTANCE 1/47 ax

SHIM SPACE
® /o
I
3

Q A

1 172" MN._|/ \ : 1/4% MAX

EMBEDMENT

SHIM SPACE
/: 3/4" MINIMUM
EDGE DISTANCE

1 f

@

FRAME JAMB SECTION (TYP)
HORIZONTAL SECTIONS

2

/  \|11/2" MmN
EMBEDMENT

\
\

o \

MAXIMUM FRAME

DP IMPACT

38 x 82

+50/-50] NO

Installation Notes:

1. Seal flange/frame to substrate. Sill shall be set on a continuous serpentine bead of structural grade
silicone caulk when no fastener is used to anchor the sill (typical).

2. Use #10 PH or greater fastener through the head & side jambs with sufficient length to penetrate a

minimum of 1 1/2" into the wood framing. For 2x wood frame substrate (min. S.G. = 0.42).

Install corrosion resistant (2)- 1/4"x 3" Tapcon screws through each hinge into rough opening.

Install corrosion resistant (2)- 1/4"x 3" Tapcon screws through each strike plate into rough opening.

5. Host structure (wood buck, masonry, steel) to be designed and anchored to properly transfer all loads
to the structure. The host structure is the responsibility of the architect or engineer of record for the

> w

project of installation.

This schedule addresses only the fasteners required to anchor the unit
to achieve the rated design pressure and impact performance (where
applicable) up to the size limitations noted. Itis not intended as a guide
to the installation process and does not address the sealing
consideration that may arise in different wall conditions. For the
complete installation procedure, see the instructions packaged with the
unit or go to www.jeld-wen.com.

DISCLAIMER:

This drawing and its contents are confidential and are not to be
reproduced or copied in whole or in part or used or disclosed to others
except as authorized by JELD-WEN Inc.

General Notes:

1. The product shown herein is designed,tested and manufactured to comply with the wind load criteria
of the adopted International Building Code (IBC), the International Residential Code (IRC), the current
Florida Building Code (FBC) and the industry requirement for the stated conditions.

2. Allglazing shall conform to ASTM E1300.

3. Use structural or composite shims where required.

S
a 2
VLD, ST,

R

This item has been digitally signed and

sealed by Michael D. Stremmel, PE on
the date adjacent to the seal. Printed
copies of this document are not
considered signed and sealed and

DRAWN BY:

M.HAM

3737 LAKEPORT BLVD.

DATE:
sc,igz; [27/2023 JELDW.ENKLAMATH FALLS OR, 97601

NTS

PHONE: (800) 535-3936

the signature must be verified on
any electronic copies.

CHECKED BY:

D.VEZO

Al Ddee”

2024.03.21 13:01:11 -0400'

APPROVED BY:

MICHAEL D. STREMMEL, P.E.
Florida P.E. No. 65868, REG. No. 37122

RECORD No.:

D1000382

TITLE:

Energy Saver Steel Wood Edge Inswing Glazed - X

1410 Eden Road
York, PA. 17406
(717) 916—6300

REPORT No.:

SJW2010-001

CAD DWG. No.:

REV: C SHEEI'l Of 10




MASONRY STRAP
INSTALLATION
1 3/4" MINIMUM
EDGE DISTANCE
IDSPAN .
3" FROM 1.1/2" MIN. /2 .
6" TYP. 1 [T cornErs FUBEDNENT -3/ M ‘EJB%;E'#W SHM sPACE
SR 5" FROM = e
L ["CORNERS :
D D S oY) \ /
_|.l.) * 1/4" MAX. SHIM SPACE O Ve
14" O.C. ;7
TYP. +
-+ ‘ < g
T 1N
—-p - — v
s - ‘ A\

(] L

° i e
— o ~

~®
‘I
A A /1 /4" MAX. SHIM SPACE HORIZONTAL SECTIONS E
1 1/2" MIN. 1
@/ H 1 EMBEDMENT
—It o ﬂ é/ =
= ' — : - 374 MMM MAXIMUM FRAME DP IMPACT
TYPICAL ELEVATION WITH FASTENER SPACING 38 x 82 +5O/_50 NO

General Notes:

The product shown herein is designed,tested and manufactured to comply with the wind load criteria
of the adopted International Building Code (IBC), the International Residential Code (IRC), the current
Florida Building Code (FBC) and the industry requirement for the stated conditions.

Installation Notes:

1. Seal flange/frame to substrate. Sill shall be set on a continuous serpentine bead of structural grade 1.
silicone caulk when no fastener is used to anchor the sill (typical).

2. Use 2 -#10 PFH or larger fasteners through masonry strap with sufficient length to penetrate a

minimum of 1 1/2" into the buck. For 2x wood frame substrate (min. S.G. = 0.42). 2. Allglazing shall conform to ASTM E1300.
3. Use 2-#10 PFH or larger fasteners through masonry strap into jamb without penetrating through the 3. Use structural or composite shims where required.
jamb into product causing visability or collateral damage to product. 4. Masonry strap specifications: 20 Ga. galvanized steel, .036" min. thickness x 1.5" min. width.

4. Install corrosion resistant (2)- 1/4"x 3" Tapcon screws through each hinge into rough opening.

Install corrosion resistant (2)- 1/4"x 3" Tapcon screws through each strike plate into rough opening.

6.  Host structure (wood buck, masonry, steel) to be designed and anchored to properly transfer all loads
to the structure. The host structure is the responsibility of the architect or engineer of record for the

o

project of installation.

g, DATE:
WL D. STR 3737 LAKEPORT BLVD.
. . . .ii'éENﬁ'g This item has been digitally signed and 12/27/2023
This schedule addresses only the fasteners required to anchor the unit A, sealed by Michael D. Stremmel, PE on ORAWN BY- SCALE. KLAMATH FALLS OR, 97601
to achieve the rated design pressure and impact performance (where * L’;ep,e?‘e;"‘af,f,z‘ 0 the seal. Printed M.H AM ’ NTS PHONE: (800) 535-3936
applicable) up to the size limitations noted. It is not intended as a guide _ STATE OF considered  signed  and sealed  and i .
to the installation process and does not address the sealing @é}%q R\“?; I:ne e;g;a:ilérznn;::t be verified on CHECKED BY: TITLE:
consideration that may arise in different wall conditions. For the i g P D.VEZO
complete installation procedure, see the instructions packaged with the M T APPROVED BY: Energy Saver Steel Wood Edge InSWIng Glazed - X
unit or go to www.jeld-wen.com. 20240521 150N 204001
DISCLAIMER: , MICHAEL D. STREMMEL, P.E. RECORD e
Florida P.E. No. 65866, REG. No. 37122 D1000382
p p p 1410 Eden Road REPORT No.:

except as authorized by JELD-WEN Inc.

York, PA. 17406
(717) 916-6300

SJW2010-001

CAD DWG. No.:

REV: C SHEEI'2 Of 10




zzSc/:z'mﬁ'l'.'fc”:"
IDSEﬁN . 3"FROM
6" TYP. CORNERS . 1/
S _ 5"FROM 4 | [ EmBEDMENT
} CORNERS e L
LX) S LX) -
— e _@
14" tZ).C. R~ OPTIONAL WOOD BUCK, 1 x 4
TYP. 1/4" MAX. SHIM SPACE
il I
FRAME SECTION (TYP)
VERTICAL SECTION
— e e L
(]
(0]
— e e L
']
Bl 4 1/4" MAX. SHIM SPACE
q &omomi. WOOD BUCK, 1 x 4
. ) 6 1 1/4° MIN.
L =t T - EMBEDMENT
- oo . Tl a
b o SR __@_/...‘-_-_‘_..’__©
Ca v c e -
2 1/2" NINIMUM
EDGE DISTANCE
TYPICAL ELEVATION WITH FASTENER SPACING

CONCRETE/MASONRY

INSTALLATION
ot
o DeSTaNGE, QPTIONAL WOOD BUCK 1 x 4
v E ) 1/4" . SHIM
Bl
q ? y ‘ 1 1/4" NIN.
Byas e vom e 15 g

ERAME_JAMB SECTION (TYP) Y\ -
HORIZONTAL SECTIONS ] Ll

1/4° MAX. SHIM spuz_\ ? v

MAXIMUM FRAME

DP

IMPACT

38 x 82

+50/=50

NO

Installation Notes:

1. Seal flange/frame to substrate. Sill shall be set on a continuous serpentine bead of structural grade
silicone caulk when no fastener is used to anchor the sill (typical).

2. Use 3/16" tapcon or equivalent fasteners through frame with sufficient length to penetrate a minimum of
1 1/4" into concrete or masonry at each location with a 2 1/2" min. from edge distance. For concrete
(min. fc = 3000 psi) or masonry substrate (CMU shall adhere to ASTM C90).

3. Install corrosion resistant (2)- 1/4"x 3" Tapcon screws through each hinge into rough opening.

>

Install corrosion resistant (2)- 1/4"x 3" Tapcon screws through each strike plate into rough opening.

5. Host structure (wood buck, masonry, steel) to be designed and anchored to properly transfer all loads
to the structure. The host structure is the responsibility of the architect or engineer of record for the

project of installation.

This schedule addresses only the fasteners required to anchor the unit
to achieve the rated design pressure and impact performance (where
applicable) up to the size limitations noted. Itis not intended as a guide
to the installation process and does not address the sealing
consideration that may arise in different wall conditions. For the
complete installation procedure, see the instructions packaged with the
unit or go to www.jeld-wen.com.

DISCLAIMER:

This drawing and its contents are confidential and are not to be
reproduced or copied in whole or in part or used or disclosed to others
except as authorized by JELD-WEN Inc.

General Notes:

1. The product shown herein is designed,tested and manufactured to comply with the wind load criteria
of the adopted International Building Code (IBC), the International Residential Code (IRC), the current
Florida Building Code (FBC) and the industry requirement for the stated conditions.

2. Allglazing shall conform to ASTM E1300.

3. Use structural or composite shims where required.

S
a 2
VLD, ST,

R

This item has been digitally signed and
sealed by Michael D. Stremmel, PE on
the date adjacent to the seal. Printed
copies of this document are not
considered signed and sealed and
the signature must be verified on
any electronic copies.

Al Vet
MICHAEL D. STREMMEL, P.E.

Florida P.E. No. 65868, REG. No. 37122
1410 Eden Road
York, PA. 17406
(717) 916—6300

DATE: 3737 LAKEPORT BLVD.
12/27/2023
DRAWN BY: SCALE:/ / JELWENKLAMATH FALLS OR’ 97601
M.HAM NTS PHONE: (800) 535-3936
CHECKED BY: TITLE:
D.VEZO _
APPROVED BY: Energy Saver Steel Wood Edge Inswing Glazed - X
RECORD No.;
D1000382
"SIW2610-001 oot T C ™3 0f 10




2 1/2" MINIMUM CONCRETE/MASONRY
® EDCE DISTANGE INSTALLATION
RN '15»415/:‘B.Mgr:¥'
IDSPAN 3+ FROM e
6" TYP. CORNERS T B
3" TYP. ~— 5" FROM — 2 it
D D =3 dl> ) CORNERS @\ i B -. .
1P * 1/4” MAX. SHIM SPACE " ?' -
14" O.C. 2 172w ] [ B -. ..
TYP. EDGE DISTANCE s
—9 ' @/’;.‘ '.. g ‘El:l/:‘;;#. J#'Dgrmu
VERTICAL SECTION A . |
b._' '.b.. 1/4" MAX. SHIM SPACE. %) TS
-1 o ! . A : N . b4 ;
e o W
- @e— Ab T®
"I ] HORIZONTAL SECTIONS .'.h : .
4 N
— oH— 1/4" MAX. SHIM SPACE \(D
og L®/ 1 1/4” MIN.
EMBEDMENT
mii o TR BE
o ' o PR — MAXIMUM FRAME DP IMPACT
TYPICAL ELEVATION WITH FASTENER SPACING d R 38 x 82 +50/-50] NO
EDGE DISTANCE

Installation Notes:

1. Seal flange/frame to substrate. Sill shall be set on a continuous serpentine bead of structural grade
silicone caulk when no fastener is used to anchor the sill (typical).

2. Use (1) - 1/4" Tapcon or equivalent fasteners through strap with sufficient length to penetrate a
minimum of 1 1/4" into concrete or masonry at each location with a 2 1/2" min. from edge distance. Use
(2) - #8 PFH fasteners through masonry strap into frame. For concrete (min. fc = 3000 psi) or masonry
substrate (CMU shall adhere to ASTM C90).

3. Install corrosion resistant (2)- 1/4"x 3" Tapcon screws through each hinge into rough opening.

Install corrosion resistant (2)- 1/4"x 3" Tapcon screws through each strike plate into rough opening.

5. Host structure (wood buck, masonry, steel) to be designed and anchored to properly transfer all loads
to the structure. The host structure is the responsibility of the architect or engineer of record for the
project of installation.

>

General Notes:

1. The product shown herein is designed,tested and manufactured to comply with the wind load criteria
of the adopted International Building Code (IBC), the International Residential Code (IRC), the current
Florida Building Code (FBC) and the industry requirement for the stated conditions.

2. Allglazing shall conform to ASTM E1300.

Use structural or composite shims where required.

4. Masonry strap specifications: 20 Ga. galvanized steel, .036" min. thickness x 1.5" min. width.

w

TREENy
No. 65868
i

This item has been digitally signed and
sealed by Michael D. Stremmel, PE on
the date adjacent to the seal. Printed
copies of this document are not
considered signed and sealed and

This schedule addresses only the fasteners required to anchor the unit
to achieve the rated design pressure and impact performance (where

applicable) up to the size limitations noted. Itis not intended as a guide STATE OF

. . . A, v . 3
to the installation process and does not address the sealing @é}%c_z Rm& :1: e;g;a:ilérznn;::t be verified on
"’Ilnmmﬁu\’m\\\‘“ " RISS:

consideration that may arise in different wall conditions. For the

complete installation procedure, see the instructions packaged with the R { P

unit or go to www.jeld-wen.com. 2%‘)1-11 -

DISCLAIMER: , MICHAEL D. STREMMEL, P.E.
This drawing and its contents are confidential and are not to be Florida P.E. No. 65868, REG. No. 37122
reproduced or copied in whole or in part or used or disclosed to others ""1410 Eden Road

except as authorized by JELD-WEN Inc. York, PA. 17406

(717) 916-6300

DATE:
12/27/2023 ELDW-E 3737 LAKEPORT BLVD.
DRAWN BY: SCALE: KLAMATH FALLS OR, 97601

M.HAM NTS PHONE: (800) 535-3936

CBE(iI/(EEDZBé TITLE:
ATPROVED B Energy Saver Steel Wood Edge Inswing Glazed - X

RECORD No.:

D1000382

REPORT No.: CAD DWG. No.: REV: SHEET
C 4 of 10

SJW2010-001




MASONRY STRAP
. INSTALLATION
1 1/2" MIN.
EMBEDMENT
IDSTN __3"FROM .
g-- RE — COSR:ZIEEZ I /® E3D/G4E lylusq'%?cmz Sra” MNMuM /—1/4' MAX. SHIM SPACE
y ["CORNERS o
4 ® e ‘ | ~—1/4" MAX. SHIM SPACE ®\ v
] -
14" O.C.
TYP. 1@
b ‘ 1El:B/E2DM:lI#. @\ ] > %
FRAME SECTION (TYP) r e - MAX. 3/4% MINIMUM
VERTICAL SECTION @ v Sm:\ o
/I S 1El:B/E2I;ME‘l=":.
b o /
] ({ t / 1®
® g [ ) /@
P o SECT T ] N
HORIZONTAL SECTIONS
"I A\
TP o 1/4" MAX. SHIM SPACE a
3/4" MINIMUM
®/' EDGE DISTANCE
b o~ S
B e S— ——— Uh
— ' — “ \® MAXIMUM FRAME DP IMPACT
® 1 1/2° MIN. +50/-50
TYPICAL ELEVATION WITH FASTENER SPACING EMBEDMENT 38 x 82 / NO

Installation Notes:

1. Seal flange/frame to substrate. Sill shall be set on a continuous serpentine bead of structural grade
silicone caulk when no fastener is used to anchor the sill (typical).

2. Use min. 2 - #8 PFH or larger fasteners through masonry strap with sufficient length to penetrate a
minimum of 1 1/2" into the buck. Bend straps around both sides of the buck. For 2x wood frame
substrate (min. S.G. = 0.42).

3. Use min. 2 - #8 PFH or larger fasteners through masonry strap into jamb without penetrating through
the jamb into product causing visability or collateral damage to product.

4. Install corrosion resistant (2)- 1/4"x 3" Tapcon screws through each hinge into rough opening.

Install corrosion resistant (2)- 1/4"x 3" Tapcon screws through each strike plate into rough opening.

6.  Host structure (wood buck, masonry, steel) to be designed and anchored to properly transfer all loads
to the structure. The host structure is the responsibility of the architect or engineer of record for the

o

General Notes:

1. The product shown herein is designed,tested and manufactured to comply with the wind load criteria
of the adopted International Building Code (IBC), the International Residential Code (IRC), the current
Florida Building Code (FBC) and the industry requirement for the stated conditions.

2. Allglazing shall conform to ASTM E1300.

Use structural or composite shims where required.

4. Masonry strap specifications: 20 Ga. galvanized steel, .036" min. thickness x 1.5" min. width.

w

project of installation. e,

e 05T
CACENGS

This schedule addresses only the fasteners required to anchor the unit . o

to achieve the rated design pressure and impact performance (where

applicable) up to the size limitations noted. Itis not intended as a guide

This item has been digitally signed and
sealed by Michael D. Stremmel, PE on
the date adjacent to the seal. Printed
copies of this document are not
considered signed and sealed and

No. 65868
i
STATE OF

. . . A, v . 3
to the installation process and does not address the sealing @é}%c_z Rm& :1: e;g;a:ilérznn;::t be verified on
"’Ilnmmﬁu\’m\\\‘“ " RISS:

consideration that may arise in different wall conditions. For the

complete installation procedure, see the instructions packaged with the R { P

unit or go to www.jeld-wen.com. 2%‘)1-11 -

DISCLAIMER: , MICHAEL D. STREMMEL, P.E.
This drawing and its contents are confidential and are not to be Florida P.E. No. 65868, REG. No. 37122
reproduced or copied in whole or in part or used or disclosed to others ""1410 Eden Road

except as authorized by JELD-WEN Inc. York, PA. 17406

(717) 916-6300

DATE:
12/27/2023 ELDW-E 3737 LAKEPORT BLVD.
DRAWN BY: SCALE: KLAMATH FALLS OR, 97601

M.HAM NTS PHONE: (800) 535-3936

CHECKED BY: TITLE:

D.VEZO

APPROVED BY: Energy Saver Steel Wood Edge Inswing Glazed - X

RECORD No.:

D1000382

REPORT No.: CAD DWG. No.: REV: SHEET
C 5 of 10

SJW2010-001




'DSEﬁN __3"FROM
6" TYP. CORNERS
3 TYP. — ~ 5"FROM
} } CORNERS
S B 3 b D
-P
}
14" O.C.
TY‘P.
-P
o o
©
(O]
o o
o o
o o
===
TYPICAL ELEVATION WITH FASTENER SPACING

N U=

N

N

3/4” MINIMUM
J EDGE DISTANCE

? /@ 1.1/2" MIN.
EMBEDMENT

1/4" MAX. SHIM SPACE

FRAME SECTION (TYP)

VERTICAL SECTION

gty
y/ \
N 7
1/4” MAX. SHIM SPACE
B 1 1/2” MIN.
EMBEDMENT
2
- é 3/4” MINIMUM

EDGE DISTANCE

THROUGH FRAME
INSTALLATION

1/4” MAX
3/4” MINIMUM }5) / SHIM SPACE
EDGE DISTANCE
1.1/2° MIN. }\

N

’ ©

HORIZONTAL SECTIONS

1/4" MAX
@ SHIM SPACE
/ 55) 3/4" MINIMUM
EDGE DISTANCE
7/

1.1/2% MIN.

A EMBEDMENT
[\ &

MAXIMUM FRAME

DP IMPACT

38 x 82

+50/-50] NO

Installation Notes:

1. Seal flange/frame to substrate. Sill shall be set on a continuous serpentine bead of structural grade
silicone caulk when no fastener is used to anchor the sill (typical).

2. Use #10 PH or greater fastener through the head & side jambs with sufficient length to penetrate a
minimum of 1 1/2" into the wood framing. For 2x wood frame substrate (min. S.G. = 0.42).

> w

Install corrosion resistant (2)- 1/4"x 3" Tapcon screws through each hinge into rough opening.
Install corrosion resistant (2)- 1/4"x 3" Tapcon screws through each strike plate into rough opening.

5. Host structure (wood buck, masonry, steel) to be designed and anchored to properly transfer all loads
to the structure. The host structure is the responsibility of the architect or engineer of record for the

project of installation.

This schedule addresses only the fasteners required to anchor the unit
to achieve the rated design pressure and impact performance (where
applicable) up to the size limitations noted. Itis not intended as a guide
to the installation process and does not address the sealing
consideration that may arise in different wall conditions. For the
complete installation procedure, see the instructions packaged with the
unit or go to www.jeld-wen.com.

DISCLAIMER:

This drawing and its contents are confidential and are not to be
reproduced or copied in whole or in part or used or disclosed to others
except as authorized by JELD-WEN Inc.

General Notes:

1. The product shown herein is designed,tested and manufactured to comply with the wind load criteria
of the adopted International Building Code (IBC), the International Residential Code (IRC), the current
Florida Building Code (FBC) and the industry requirement for the stated conditions.

2. Allglazing shall conform to ASTM E1300.

3. Use structural or composite shims where required.

S
a 2
VLD, ST,

R

Al Ddee”

2024.03.21 13:01:11 -0400'

MICHAEL D

This item has been digitally signed and
sealed by Michael D. Stremmel, PE on
the date adjacent to the seal. Printed
copies of this document are not
considered signed and sealed and
the signature must be verified on
any electronic copies.

. STREMMEL, P.E.

Florida P.E. No. 65868, REG. No. 37122
1410 Eden Road
York, PA. 17406
(717) 916—6300

DRAWN BY:

M.HAM

3737 LAKEPORT BLVD.

DATE:
sc,igz; [27/2023 JELDW.ENKLAMATH FALLS OR, 97601

NTS

PHONE: (800) 535-3936

CHECKED BY:

D.VEZO

APPROVED BY:

RECORD No.:

D1000382

TITLE:

Energy Saver Steel Wood Edge Outswing Glazed - X

REPORT No.:

SJW2010-001

CAD DWG. No.:

REV: C SHEEI'6 Of 10




MASONRY STRAP
INSTALLATION
1 3/4" MINIMUM
IDSEﬁN _ 3"FROM EDGE DISTANCE
6" TYP. CORNERS 3 1 1/2" MIN. . 1.1/2* MIN.
3 TYP ey e 5 FROM (? — EMBEDMENT :9/04: 31&'45'\‘.?& _ﬂ'f/'f' MAX. SHIM SPACE
S D S <;> > CORNERS X &
b O - i
14" *O,C, _,_a\_ 1/4™ MAX. SHIM SPACE 0
TYP. 1.1/2" MIN.
EMBEDMENT .
jIA ‘ 1/4" MAX. SHIM SPACE ‘Esp/c"g ;f'swp:’cu:
® AN
FRAME SECTION (TYP) 3 o
VERTICAL SECTION
b o \ ®\' 2
)
b @e é% S - A ©
T RS
1/4” MAX. SHIM SPACE HORIZONTAL SECTIONS i
nl T = / 1.1/2" MIN. ~ )
@2 - e EMBEDMENT 1
H 3
] M i J @é ___| 3/4" MINIMUM
" eieE AN MAXIMUM_FRAME DP___ [IMPACT
TYPICAL ELEVATION WITH FASTENER SPACING 38 x 82 +5O/_50 NO

General Notes:

The product shown herein is designed,tested and manufactured to comply with the wind load criteria
of the adopted International Building Code (IBC), the International Residential Code (IRC), the current
Florida Building Code (FBC) and the industry requirement for the stated conditions.

Installation Notes:

1. Seal flange/frame to substrate. Sill shall be set on a continuous serpentine bead of structural grade 1.
silicone caulk when no fastener is used to anchor the sill (typical).

2. Use 2 -#10 PFH or larger fasteners through masonry strap with sufficient length to penetrate a

minimum of 1 1/2" into the buck. For 2x wood frame substrate (min. S.G. = 0.42). 2. Allglazing shall conform to ASTM E1300.
3. Use 2-#10 PFH or larger fasteners through masonry strap into jamb without penetrating through the 3. Use structural or composite shims where required.
jamb into product causing visability or collateral damage to product. 4. Masonry strap specifications: 20 Ga. galvanized steel, .036" min. thickness x 1.5" min. width.

4. Install corrosion resistant (2)- 1/4"x 3" Tapcon screws through each hinge into rough opening.

Install corrosion resistant (2)- 1/4"x 3" Tapcon screws through each strike plate into rough opening.

6.  Host structure (wood buck, masonry, steel) to be designed and anchored to properly transfer all loads
to the structure. The host structure is the responsibility of the architect or engineer of record for the
project of installation.

o

g, DATE:

12/27/2023 3737 LAKEPORT BLVD.
This schedule addresses only the fasteners required to anchor the unit S sealed by Michasl D. Stremmel, PE on DRAWN BY: SCALE: KLAMATH FALLS OR, 97601
to achieve the rated design pressure and impact performance (where * ‘c';e le:a‘e;"laf:lg‘ ‘zo‘c"jm::f‘ ar”e"“‘;‘: M.H AM ’ NTS PHONE: (800) 535-3936
applicable) up to the size limitations noted. Itis not intended as a guide STATE OF considered signed and sealed and i ,
to the installation process and does not address the sealing é;s;}‘v.f.’.ﬁ.‘f%i the ISif"a‘_“fe must  be' yerified on CHECKED BY: TITLE:
consideration that may arise in different wall conditions. For the i SOyEEEIRnCCopies: D.VEZO

complete installation procedure, see the instructions packaged with the - { o X Ener Saver Steel WOOCI Ed e OUtSWin GIaZed -X
unit or go to www.jeld-wen.com. zfgﬂ/ f oo APPROVED BY: gy g g

DISCLAMER: , MICHAEL D. STREMMEL, P.E. RECORD e

This drawing and its contents are confidential and are not to be Florida P.E. No. 65868, REG. No. 37122 D 1 000382

reproduced or copied in whole or in part or used or disclosed to others ""1410 Eden Road REPORT Mo

except as authorized by JELD-WEN Inc.

York, PA. 17406
(717) 916-6300

SJW2010-001

CAD DWG. No.:

REV: C SHEEI'7 Of 10




CONCRETE /MASONRY
INSTALLATION
IDSEéN - 3" FROM 2 1/2"
6" TYP. CORNERS EDGE DISTANCE -
e — 5" FROM @ - 2 1/2° ul::ﬁ:m".
_+L<> > dl> dl> S CORNERS ) ; _. . 4.‘_. _IEMIB/;I’)M:I#' DEE _-.v R mﬂl:j::;: ‘
] ; N b
14" O.C. . [® R 1144 N
TYP. O X~ oPmionaL woop Buck, 1 x 4 ; _2 1/2° MNMW
\1/4' MAX. SHIM SPACE OFTIONAL W0OD Buck 1 x 4 B FDGE DiSTANGE
—9 1/4" MAX. SHIM SPACI . | <.
db d- VERTICAL SECTION : é) ‘ M }@ §
e -
® P
1P a-
HORIZONTAL SECTIONS
-1 ar 1/4" MAX. SHIM SPACE
OPTIONAL WOOD BUCK, 1 x 4
———
—It a- 1T
- ' - MAXIMUM FRAME DP IMPACT
TYPICAL ELEVATION WITH FASTENER SPACING 38 x 82 +50/-50| NO
Installation Notes: General Notes:
1. Seal flange/frame to substrate. Sill shall be set on a continuous serpentine bead of structural grade 1. The product shown herein is designed,tested and manufactured to comply with the wind load criteria
silicone caulk when no fastener is used to anchor the sill (typical). of the adopted International Building Code (IBC), the International Residential Code (IRC), the current
2. Use 3/16" tapcon or equivalent fasteners through frame with sufficient length to penetrate a minimum of Florida Building Code (FBC) and the industry requirement for the stated conditions.
1 1/4" into concrete or masonry at each location with a 2 1/2" min. from edge distance. For concrete 2. Al glazing shall conform to ASTM E1300.
(min. fc = 3000 psi) or masonry substrate (CMU shall adhere to ASTM C90). 3. Use structural or composite shims where required.

3. Install corrosion resistant (2)- 1/4"x 3" Tapcon screws through each hinge into rough opening.

Install corrosion resistant (2)- 1/4"x 3" Tapcon screws through each strike plate into rough opening.

5. Host structure (wood buck, masonry, steel) to be designed and anchored to properly transfer all loads
to the structure. The host structure is the responsibility of the architect or engineer of record for the
project of installation.

>

g, DATE:
\\\\\“\(,,LD STR@ 12/27/2023 3737 LAKEPORT BLVD.
This schedule addresses only the fasteners required to anchor the unit lz;sle;eb'y" Mesael 5. Sl TRE. o SRAWN Y. SCALE. E I w E NKLAMATH FALLS OR, 97601
to achieve the rated design pressure and impact performance (where L’;ep,e?‘e;‘“af,f,g‘ 0 the seal. Printed M.H AM ’ NTS PHONE: (800) 535-3936
applicable) up to the size limitations noted. It is not intended as a guide considered  signed  and sealed  and i .
to the installation process and does not address the sealing ‘:ne el:;g;an‘iléfzn";::t bei verified o0 CHECKED BY: TITLE:
consideration that may arise in different wall conditions. For the i . D.VEZO .
complete installation procedure, see the instructions packaged with the M T APPROVED BY: Energy Saver Steel Wood Edge Outswi ng Glazed - X
unit or go to www.jeld-wen.com. 20240521 150N 204001
DISCLAIMER MICHAEL D. STREMMEL, P.E. RECORD Ne
This (;rawigg and i_tsdcpntethT are _conﬁdtential a;d a[r;_e nlot todbte N Florida P.E. No. 65868, REG. No. 37122 D 1 000382
reproduced or copied in whole or in part or used or disclosed to others 1410 Eden Road - - -
except as authorized by JELD-WEN Inc. York, PA. 17408 REPORT Mo CAD DWG. No.: REV: C SHEHS of 10
(717) 916-6300 SJW2010-001




CONCRETE/MASONRY

zE[;G/Ez'mg}r:mM INSTALLATION
IDSPAN BN RN 1 .1/4 MIN.
__, .. 3"FROM ‘“o 4 e e EMB/EDMENT 1.1/4° M,
6" TYP. CORNERS o '-_" . e B EUBEDUENT
3"TYP. [~ . 5" FROM AR .. .;4; _*: Sl i ;4 - . ) 1/4° MAX. SHIM SPACE
. . |
) =) X CORNERS @ L . h {
_"L —_— 1 O I ol e AT O
14" 0.C. \1 /A" MAX. SHIM SPACE S
TYP. CaFCIN
- i @{
FRAME_SECTION (TYP) R i % ikt [ ol
VERTICAL SECTION - é —x"
') 1 1/4% NAX. SHIM SPACE- CP Lok -__'
A
(C] L s e
HORIZONTAL SECTIONS -
1 ® SRR
B R ©)]
- »
I [ A/>® ot
b o /1 /4" MAX. SHIM SPACE IR

_1 1/4" MIN.
. \® EMBEDMENT
R RN = MAXIMUM FRAME DP___[IMPACT
TYPICAL ELEVATION WITH FASTENER SPACING T8 ‘ 38 x 82 +50/-50] NO
2 1/2" MINIMUM

EDGE DISTANCE

Installation Notes:

1. Seal flange/frame to substrate. Sill shall be set on a continuous serpentine bead of structural grade
silicone caulk when no fastener is used to anchor the sill (typical).

2. Use (1) - 1/4" Tapcon or equivalent fasteners through strap with sufficient length to penetrate a

General Notes:

1. The product shown herein is designed,tested and manufactured to comply with the wind load criteria
of the adopted International Building Code (IBC), the International Residential Code (IRC), the current
Florida Building Code (FBC) and the industry requirement for the stated conditions.

minimum of 1 1/4" into concrete or masonry at each location with a 2 1/2" min. from edge distance. Use 2. Al glazing shall conform to ASTM E1300.

(2) - #8 PFH fasteners through masonry strap into frame. For concrete (min. fc = 3000 psi) or masonry
substrate (CMU shall adhere to ASTM C90).

3. Install corrosion resistant (2)- 1/4"x 3" Tapcon screws through each hinge into rough opening.

Install corrosion resistant (2)- 1/4"x 3" Tapcon screws through each strike plate into rough opening.

5. Host structure (wood buck, masonry, steel) to be designed and anchored to properly transfer all loads
to the structure. The host structure is the responsibility of the architect or engineer of record for the
project of installation.

>

w

Use structural or composite shims where required.
4. Masonry strap specifications: 20 Ga. galvanized steel, .036" min. thickness x 1.5" min. width.

TREENy
No. 65868
i

This item has been digitally signed and
sealed by Michael D. Stremmel, PE on
the date adjacent to the seal. Printed
copies of this document are not
considered signed and sealed and
the signature must be verified on
any electronic copies.

This schedule addresses only the fasteners required to anchor the unit
to achieve the rated design pressure and impact performance (where
applicable) up to the size limitations noted. Itis not intended as a guide
to the installation process and does not address the sealing
consideration that may arise in different wall conditions. For the

STATE OF
A
é'--{oa\?w
s ORY

TONAL S
Uy ONAL EN
S

complete installation procedure, see the instructions packaged with the R { P

unit or go to www.jeld-wen.com. 2%‘)1-11 -

DISCLAIMER: , MICHAEL D. STREMMEL, P.E.
This drawing and its contents are confidential and are not to be Florida P.E. No. 65868, REG. No. 37122
reproduced or copied in whole or in part or used or disclosed to others ""1410 Eden Road

except as authorized by JELD-WEN Inc. York, PA. 17406

(717) 916-6300

DATE: 3737 LAKEPORT BLVD.
e e JELIr WEN e s or, sreon
M.HAM NTS PHONE: (800) 535-3936
CHECKED BY: TITLE:
D.VEZO
APPROVED BY: Energy Saver Steel Wood Edge Outswing Glazed - X
D.VEZO
RECORD No.;
D1000382
"SIW2610-001 oot “C ™9 0f 10




MASONRY STRAP
INSTALLATION
IDSEﬁN - 3" FROM 1 1/2' MIN.
6" TYP. CORNERS EMBEDMENT
3"TYP. S 5" FROM ? .
1T CORNERS 2 3 P TR —
T T o : |
14TY%C- ™~—1/4" MAX. SHIM SPACE
§ —
b gz @\ " N 1/4” MAX. SHIM SPACE~\ LA .;12‘,2‘,1:2%/2- "
(4 2 — g
FRAME SECTION (TYP) o 0y FMREDMENT
b ak VERTICAL SECTION o
) ! < ® S
ARG
i © o JI b 5
FRAME JAMB SECTION (TYP) _
HORIZONTAL SECTIONS i \\
0 A
nid ar 1/4" MAX. SHIM SPACE \@
[ /_ 3/4" MINIMUM
®/ - EDGE DISTANCE
= ; = < o MAXIMUM FRAME DP IMPACT
® . 38 x 82 +50/-50| NO
TYPICAL ELEVATION WITH FASTENER SPACING EMBEOMENT /

Installation Notes:

1. Seal flange/frame to substrate. Sill shall be set on a continuous serpentine bead of structural grade
silicone caulk when no fastener is used to anchor the sill (typical).

2. Use min. 2 - #8 PFH or larger fasteners through masonry strap with sufficient length to penetrate a
minimum of 1 1/2" into the buck. Bend straps around both sides of the buck. For 2x wood frame
substrate (min. S.G. = 0.42).

3. Use min. 2 - #8 PFH or larger fasteners through masonry strap into jamb without penetrating through
the jamb into product causing visability or collateral damage to product.

4. Install corrosion resistant (2)- 1/4"x 3" Tapcon screws through each hinge into rough opening.

Install corrosion resistant (2)- 1/4"x 3" Tapcon screws through each strike plate into rough opening.

6.  Host structure (wood buck, masonry, steel) to be designed and anchored to properly transfer all loads

to the structure. The host structure is the responsibility of the architect or engineer of record for the

o

General Notes:

1. The product shown herein is designed,tested and manufactured to comply with the wind load criteria
of the adopted International Building Code (IBC), the International Residential Code (IRC), the current
Florida Building Code (FBC) and the industry requirement for the stated conditions.

2. Allglazing shall conform to ASTM E1300.

Use structural or composite shims where required.

4. Masonry strap specifications: 20 Ga. galvanized steel, .036" min. thickness x 1.5" min. width.

w

project of installation. e,

ATy
This schedule addresses only the fasteners required to anchor the unit V;: msf
to achieve the rated design pressure and impact performance (where *
applicable) up to the size limitations noted. Itis not intended as a guide
to the installation process and does not address the sealing
consideration that may arise in different wall conditions. For the

This item has been digitally signed and
sealed by Michael D. Stremmel, PE on
the date adjacent to the seal. Printed
copies of this document are not
considered signed and sealed and
the signature must be verified on
any electronic copies.

STATE OF
A
é'--{oa\?w
s ORY

TONAL S
Uy ONAL EN
S

complete installation procedure, see the instructions packaged with the R { P

unit or go to www.jeld-wen.com. 2%‘)1-11 -

DISCLAIMER: , MICHAEL D. STREMMEL, P.E.
This drawing and its contents are confidential and are not to be Florida P.E. No. 65868, REG. No. 37122
reproduced or copied in whole or in part or used or disclosed to others ""1410 Eden Road

except as authorized by JELD-WEN Inc. York, PA. 17406

(717) 916-6300

DATE: 3737 LAKEPORT BLVD.
e e JELIr WEN e s or, sreon
M.HAM NTS PHONE: (800) 535-3936
CHECKED BY: TITLE:
D.VEZO
APPROVED BY: Energy Saver Steel Wood Edge Outswing Glazed - X
D.VEZO
RECORD No.;
D1000382
"SIW2610-001 oot ¢ ™10 of 10






